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Answer all the questions

Wrong answers will be penalized.

I. Taking any mobile communication device to exam room (regardless if the is open or not) is considered as an attempt to cheating. 

II. Rename this file with your first and last name.
III. Only the answers on the word file will be graded.

IV. Write your first and last name to the footer.
V. Save the file on your computer (temporary directory of your computer)

VI. ,α=0.05, unless otherwise mentioned.
VII. Do not forget to upload the relevant files to the system.

VIII. Never ever re-open a file before closing it.

Part B:
Question 1:
Consider the following money demand equation

Log(Mtd) = β0+β1log(Yt)+β2log(Rt)+β3log(Pt)+ut.
Where M is money(M2), Y is income (GDP), R is interest rate(tbrate) and P is prices (cpi). 

a. When you estimate the model with OLS, what is the estimated coefficient’s economic interpretation for β1?

b. What is the test statistics for Ho: β3=1 and β1+β2=0.3?  Do you reject the null?

c. Perform the Goldfeld and Quandt test for heteroscedasticity where heteroscedasticity increases with M2 (var(ut) = σ2 Mt)?
d. Assume that heteroscedasticity does exist (regardless the result of c).  What is the (F)GLS estimator?

Question 2:

Still consider the above model

a. Test positive and negative autocorrelation with the Durbin-Watson statistics? What do you conclude?

b. Test the autocorrelation for order 1 with the Breusch-Godfrey test (AR(1))? 
c. What is the OLS estimate with the right Standard errors?

d. What is the (F)GLS estimate if the residuals are AR(1)?

Question 3:

For the same model 

Log(Mtd) = β0+β1log(Yt)+β2log(Rt)+β3log(Pt)+ut.
Where Y (GDP) is a possible that endogeneous variable.  Consider that i. constant, ii.the lagged value of GDP (gdpl), iii. The lagged value of cpi (cpil), iv. Prices(CPI), v. R( tbrate)  as exogeneous.

a. What is the IV of the above model?
b. Perform the Hausmann test for endogeneity of Y?
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